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) . |HE & + 4 v = Y (1) w 4 b — ¥
B = (a) 1&/E | 3&FE | /N & 1FHE | 2H/E | 3&H
3 5 200 6.9 6.9 217.6
3 — & fF 35 6.4
5 — 2 300 24.0 12.8
6 66 | 115 115 9.6 4.8
1T =1 115 9.2 9.2 11.2 4.8
= T = 2 100 20.7 20.7 9.6 3.2
8 145 217.6 217.6 9.6 9.6
g = 1 179 138 13.8 12.8 8.0
9 = 2 137 26.0 138 39.8 4.8
0 - 1 300 0.0 19.2 20.8 16.0
d 19" = @ 238 50.0 50.0 11.2 6.0
11 150 48.0 48.0
2 - 1 10 24.0 24.0 6.4
13 — 2 216 216 276 256 16.0
13 = 3 200 4.6 4.6 11.2 11.2
4 14 - 1 150 50.0 50.0 3.2
8 — 2 434 18.0 52.2 70.2 384
21 = 235 0.0 25.6
21 — 2 100 0.0 3.2 1.6
A 3,403 216.0 18179 403.9 243.6 89.6 41.2
2 = 1 190 16.0 16.0 3.2
3 25 0.0
s
12 = 2 131 0.0 4.8
4 - 2 340 0.0 4.8
16 87 0.0
17 101 0.0
4
8 - 1 128 0.0 3.2
20 415 0.0 11.2
21 — 2 200 0.0 19.2
22 65 0.0 4.8 3.2
& 24 90 0.0 3.2 1.6
NE 1Lare 16.0 16.0 512 8.0
R R 850 0.0
a &t 6,025 2320 187.9 419.9 29438 97.6 41.2
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/N i 2 FE /N EE 6,553 [ LS wIE(t) | B ke W=
276 1.8 18 69.3 3,465
6.4 11 11 17.0 4857
36.8 736 2,453
14.4 403 6,106
16.0 412 3,583
128 463 1,630
19.2 66.0 4552
20.8 55.4 3,095
48 49.4 3606 ]
56.0 112.0 3733
17.2 89 89 11938 5,035
0.0 60| - 60 72.1 4,807
6.4 3.0 3.0 489 4747
116 2.4 1132 5,239
22.4 6.9 56.3 2,815
32 6.2 62 | 276 109.0 7164
384 | 140 | 140 203.1 1,681
25.6 5.6 5.5 736 3132
48 0.4 0.4 2.3 133 1,330 | B
3744 | 470 | 470 | 392 1,379.8 4054
32 0.0 71 295 1552 | % 15
0.0 0.0 6.2 6.2 2,486
48 31 31 47 26.8 2,043
48 1.4 1.4 65.3 80.5 2,369
0.0 35 35 11 18.1 2,077
0.0 42 42 15 183 1,816
3.2 0.0 10.1 165 1,292
112 0.0 56.2 786 1,894
19.2 0.0 80.5 1189 5,043
8.0 0.0 3.4 1.9 213 3272 |®& B
48 0.7 0.7 2.0 142 1,582 |
592 | 129 | 129 34 | 2395 4288 2,419.9
00| 136 | 136 54.2 638
4336 | 734 | 734 | 426 | 2395 | 1,8628 =
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